



## A study of Milne-type inequalities for several convex function classes with applications

Arslan Munir<sup>a,\*</sup>, Ather Qayyum<sup>b,\*</sup>, Hüseyin Budak<sup>c</sup>, Irza Faiz<sup>d</sup>, Hasan Kara<sup>c</sup>, Siti Suzlin Supadi<sup>e</sup>

<sup>a</sup>School of Mathematical Sciences, University of Science and Technology of China, Hefei 230026 People's Republic of China

<sup>b</sup>Institute of Mathematical Sciences, Universiti Malaya, Malaysia, [b] QFBA-Northumbria University Doha, Qatar

<sup>c</sup>Department of Mathematics, Düzce University, Düzce, Türkiye

<sup>d</sup>Department of Mathematics, Government College University Faisalabad Sahiwal Campus, Pakistan

<sup>e</sup>Institute of Mathematical Sciences, Universiti Malaya, Malaysia

**Abstract.** Fractional integral operators have indeed been the subject of significant research in various mathematical and scientific disciplines over the past few decades. The main aim of this article is to establish a new identity employing the Atangana Baleanu fractional integral operator for the case of differentiable functions. Moreover, we present several fractional Milne-type inequalities for bounded function by fractional integrals. Furthermore, we obtain fractional Milne-type inequalities for the case of Lipschitzian functions. Lastly, we explore applications related to special means, and quadrature formulas.

### 1. The first section

Convexity is a fundamental concept in mathematics that plays a crucial role in various areas of pure and applied mathematics. Convexity plays a central concept in the development of inequality theory. The concept of a function is one of the fundamental ideas in mathematics and plays a central role in many areas. In additional many researchers have focused on developing new classes of functions and classifying them into different types. These are just a few examples of the classes of functions, convex function, bounded functions, and Lipschitz function that researchers have considered to obtain new error bounds. The convex function, which has applications in statistics, inequality theory, convex programming, and numerical analysis, is one of the types of functions that were defined as the outcome of this significant research. The definition of this fascinating class of functions as follows.

**Definition 1.1.** The mapping of  $\lambda : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$  is said to be convex if:

$$\lambda(\xi\delta_1 + (1 - \xi)\delta_2) \leq \xi\lambda(\delta_1) + (1 - \xi)\lambda(\delta_2),$$

for all  $\delta_1, \delta_2 \in I$  and  $\xi \in [0, 1]$ .

---

2020 Mathematics Subject Classification. Primary 26B25; Secondary 26D10, 26D15.

Keywords. Milne's Formula inequalities;  $s$ -convex function; Fractional integrals; Hölder's inequality; Bounded Function.

Received: 27 February 2024; Accepted: 19 July 2024

Communicated by Miodrag Spalević

\* Corresponding author: Arslan Munir and Ather Qayyum

Email addresses: [munirarslan999@gmail.com](mailto:munirarslan999@gmail.com) (Arslan Munir), [dratherqayyum@um.edu.my](mailto:dratherqayyum@um.edu.my) (Ather Qayyum),

[hsyn.budak@gmail.com](mailto:hsyn.budak@gmail.com) (Hüseyin Budak), [faizirza48@gmail.com](mailto:faizirza48@gmail.com) (Irza Faiz), [hasan64kara@gmail.com](mailto:hasan64kara@gmail.com) (Hasan Kara), [suzlin@um.edu.my](mailto:suzlin@um.edu.my) (Siti Suzlin Supadi)

Fractional calculus has recently been widely recognized as a potent mathematical tool for modelling and analysing many physical and real-world events. The notion of fractional derivatives and integrals is not a fresh revelation, but the methodical advancement and popular acknowledgment of fractional calculus have gained impetus in recent decades. The concept of fractional derivatives and integrals has been used in several mathematical fields, including complex analysis, numerical analysis, function analysis, and Stochastic. Numerous scholars have dedicated their efforts to examining integral inequalities using various fractional operators. The investigation of integral inequalities using fractional operators has been a dynamic and productive domain of study, resulting in notable progress in several branches of mathematics and beyond. Researchers have recently discovered and established a novel limit in integral inequalities, which has created fresh opportunities for further study. The examination of error limits for functions that are differentiable, twice differentiable, or  $n$ -times differentiable is a basic component of mathematical analysis. Several trapezoid-type inequalities were derived for other kinds of functions, such as differentiable convex functions [1], bounded functions [2, 10], Lipschitzian functions [3], functions with bounded variation [4], and twice differentiable convex functions [5]. The papers [6, 7] primarily focused on the fractional variations of trapezoid-type inequalities. Various writers have established midpoint-type inequalities for fractional integrals [8, 9], differentiable convex functions [12], and doubly differentiable convex functions [11]. A number of articles have been presented recently that focus on establishing significant inequalities [13]-[23]. The literature includes the following inequality, also known as Simpson’s type.

$$\left| \frac{1}{3} \left[ \frac{\lambda(\delta_1) + \lambda(\delta_2)}{2} + 2\lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(x) dx \right] \right| \leq \frac{(\delta_2 - \delta_1)^4}{2880} \|\lambda^{(4)}\|_\infty.$$

where  $\lambda : [\delta_1, \delta_2] \rightarrow \mathbb{R}$  is a four time differentiable function on  $(\delta_1, \delta_2)$  and  $\|\lambda^{(4)}\|_\infty = \sup_{x \in (\delta_1, \delta_2)} |\lambda^{(4)}(x)| < \infty$ .

Milne’s formula, which is of open type, is parallel to Simpson’s formula, which is of closed type, in terms of Newton-Cotes formulas, because they hold under the same conditions.

**Definition 1.2.** Suppose that  $\lambda : [\delta_1, \delta_2] \rightarrow \mathbb{R}$  is a four-times continuously differentiable mapping on  $(\delta_1, \delta_2)$ , and let  $\|\lambda^{(4)}\|_\infty = \sup_{x \in (\delta_1, \delta_2)} |\lambda^{(4)}(x) dx| < \infty$ . Then, one has the inequality [24].

$$\left| \left[ \frac{2}{3} \lambda(\delta_1) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + \frac{2}{3} \lambda(\delta_2) \right] - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(x) dx \right| \leq \frac{7(\delta_2 - \delta_1)^4}{23040} \|\lambda^{(4)}\|_\infty.$$

**Definition 1.3.** [25] Let  $H^1(\delta_1, \delta_2)$  be the Sobolev space of order one defined as

$$H^1(\delta_1, \delta_2) = \left\{ g \in L^2(\delta_1, \delta_2) : g' \in L^2(\delta_1, \delta_2) \right\}$$

where

$$L^2(\delta_1, \delta_2) = \left\{ g(z) : \left( \int_{\delta_1}^{\delta_2} g^2(z) dz \right)^{\frac{1}{2}} < \infty \right\}.$$

Let  $\lambda \in H^1(\delta_1, \delta_2)$ ,  $\delta_1 < \delta_2$ ,  $\alpha \in [0, 1]$ , then the notion of left derivative in the sense of Caputo-Fabrizio is defined as:

$$({}^{CFD}_{\delta_1} D^\alpha \lambda)(x) = \frac{\beta(\alpha)}{1 - \alpha} \int_{\delta_1}^x \lambda'(\xi) e^{\frac{-\alpha(x-\xi)^\alpha}{1-\alpha}} d\xi,$$

$x > \alpha$  and the associated integral operator is

$$({}^{CF}_{\delta_1} I^\alpha \lambda)(x) = \frac{1 - \alpha}{\beta(\alpha)} \lambda(x) + \frac{\alpha}{\beta(\alpha)} \int_{\delta_1}^x \lambda(\xi) d\xi$$

where  $\beta(\alpha) > 0$  is the normalization function satisfying  $\beta(0) = \beta(1) = 1$ . For  $\alpha = 0, \alpha = 1$ , the left derivative is defined as follows, respectively

$$\begin{aligned}({}_{\delta_1}^{CFD}D^0\lambda)(x) &= \lambda'(x) \\({}_{\delta_1}^{CFD}D^1\lambda)(x) &= \lambda(x) - \lambda(\delta_1).\end{aligned}$$

For the right derivative operator

$$({}_{\delta_2}^{CFD}D^\alpha\lambda)(x) = \frac{\beta(\alpha)}{1-\alpha} \int_x^{\delta_2} \lambda'(\xi) e^{-\frac{\alpha(\xi-x)^\alpha}{1-\alpha}} d\xi,$$

$x < \delta_2$  and the associated integral operator is

$$({}_{\delta_2}^{CF}I^\alpha\lambda)(x) = \frac{1-\alpha}{\beta(\alpha)}\lambda(x) + \frac{\alpha}{\beta(\alpha)} \int_x^{\delta_2} \lambda(\xi) d\xi,$$

where  $\beta(\alpha) > 0$  is a normalization function that satisfies  $\beta(0) = \beta(1) = 1$ .

**Definition 1.4.** [26] The fractional integral operator with non-local kernel of function  $\lambda \in H^1(\delta_1, \delta_2)$  is defined as:

$${}_{\delta_1}^{AB}I_x^\alpha(\lambda(x)) = \frac{1-\alpha}{\beta(\alpha)}\lambda(x) + \frac{\alpha}{\beta(\alpha)\Gamma(\alpha)} \int_{\delta_1}^x \lambda(\xi)(x-\xi)^{\alpha-1} d\xi,$$

and right hand sides of AB-fractional operator

$${}_{\delta_2}^{AB}I_x^\alpha(\lambda(x)) = \frac{1-\alpha}{\beta(\alpha)}\lambda(x) + \frac{\alpha}{\beta(\alpha)\Gamma(\alpha)} \int_x^{\delta_2} \lambda(\xi)(\xi-x)^{\alpha-1} d\xi,$$

where  $\delta_2 > \delta_1, \alpha \in [0, 1]$  and  $\beta(\alpha) > 0$  is a normalization function.

**Theorem 1.5.** [28] Let  $\lambda : [\delta_1, \delta_2] \rightarrow \mathbb{R}$  be a differentiable function on  $I^o$ ,  $\delta_1, \delta_2 \in I^o$  with  $\delta_1 < \delta_2$ , where  $\lambda' \in L[\delta_1, \delta_2]$ . If  $|\lambda'|$  is convex function on  $[\delta_1, \delta_2]$ , then we get the following inequality holds:

$$\begin{aligned}& \left| \frac{1}{3} \left[ 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + 2\lambda(\delta_2) \right] \right. \\& \left. - \frac{2^{\alpha-1}\Gamma(\alpha+1)}{(\delta_2 - \delta_1)^\alpha} \left[ J_{\delta_1^+}^\alpha \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + J_{\delta_2^-}^\alpha \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) \right] \right| \\& \leq \frac{\delta_2 - \delta_1}{12} \left( \frac{\alpha + 4}{\alpha + 1} \right) (|\lambda'(\delta_1)| + |\lambda'(\delta_2)|).\end{aligned}$$

**Proposition 1.6.** If we take  $\alpha = 1$  in Theorem 1.5, we have

$$\begin{aligned}& \left| \frac{1}{3} \left[ 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + 2\lambda(\delta_1) \right] - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(u) du \right| \\& \leq \frac{5(\delta_2 - \delta_1)}{24} (|\lambda'(\delta_1)| + |\lambda'(\delta_2)|).\end{aligned}$$

**Theorem 1.7.** [28] Let  $\lambda : [\delta_1, \delta_2] \rightarrow \mathbb{R}$  be a differentiable function on  $I^o$ ,  $\delta_1, \delta_2 \in I^o$  with  $\delta_1 < \delta_2$ , where  $\lambda' \in L[\delta_1, \delta_2]$ . If  $|\lambda'|$  is an L-Lipschitz function on  $[\delta_1, \delta_2]$ , then we get the following inequality holds:

$$\begin{aligned} & \left| \frac{1}{3} \left[ 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + 2\lambda(\delta_2) \right] \right. \\ & \quad \left. - \frac{2^{\alpha-1}\Gamma(\alpha+1)}{(\delta_2 - \delta_1)^\alpha} \left[ J_{\delta_1^+}^\alpha \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + J_{\delta_2^-}^\alpha \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) \right] \right| \\ & \leq \frac{(\delta_2 - \delta_1)^2}{24} \left( \frac{\alpha + 8}{\alpha + 2} \right) L. \end{aligned}$$

**Proposition 1.8.** *If we take  $\alpha = 1$  in Theorem 1.7, we have*

$$\left| \frac{1}{3} \left[ 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + 2\lambda(\delta_2) \right] - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(u) du \right| \leq \frac{(\delta_2 - \delta_1)^2}{8} L.$$

Motivated by ongoing studies, we are established a new identity for Atangana Baleanu integral operator. Then utilizing this identity we are presented a novel fractional version of the Milne type inequalities for functions whose absolute value of differentiable are convex. Employing well knows inequalities like Power-mean, Hölder, and bounded functions are obtained to our auxiliary result. Finally, we are discussed some applications to special means, and quadrature formula.

## 2. An Identity for Differentiable Function

In this section we deal with identity, which is necessary to attain our main result.

**Lemma 2.1.** *Let  $\lambda : I \subset \mathbb{R} \rightarrow \mathbb{R}$  be a differentiable function on  $I^\circ$ ,  $\delta_1, \delta_2 \in I^\circ$  with  $\delta_1 < \delta_2$ , and  $\lambda' \in L^1[\delta_1, \delta_2]$ , then the following fractional equality holds:*

$$\begin{aligned} & \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \\ & \quad - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha, \frac{\delta_1 + \delta_2}{2}} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\delta_2^-}^{\alpha, \frac{\delta_1 + \delta_2}{2}} \lambda(\delta_2) \right) \right) \\ & = \frac{\delta_2 - \delta_1}{4} \left[ \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right. \\ & \quad \left. - \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) d\xi \right]. \end{aligned}$$

*Proof.* Let

$$\begin{aligned} & \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) d\xi \\ & \quad - \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) d\xi \\ & = I_1 - I_2. \end{aligned}$$

Integration by parts

$$\begin{aligned} I_1 & = \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) d\xi \\ & = \frac{2}{\delta_2 - \delta_1} \left( \xi^\alpha - \frac{4}{3} \right) \lambda \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \frac{\xi}{2} \delta_2 \right) \Big|_0^1 - \frac{2\alpha}{\delta_2 - \delta_1} \int_0^1 \xi^{\alpha-1} \lambda \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \frac{\xi}{2} \delta_2 \right) d\xi \\ & = \frac{-2}{3(\delta_2 - \delta_1)} \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) + \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_1) - \frac{2\alpha}{\delta_2 - \delta_1} \int_0^1 \xi^{\alpha-1} \lambda \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \frac{\xi}{2} \delta_2 \right) d\xi \end{aligned}$$

$$\begin{aligned}
 &= \frac{-2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_1) - \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \alpha \int_{\delta_1}^{\frac{\delta_1 + \delta_2}{2}} (u - \delta_1)^{\alpha-1} \lambda(u) du \\
 &= \frac{-2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_1) - \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \\
 &\quad \times \left[ \frac{\alpha\beta(\alpha)\Gamma\alpha}{\beta(\alpha)\Gamma\alpha} \int_{\delta_1}^{\frac{\delta_1 + \delta_2}{2}} (u - \delta_1)^{\alpha-1} + \frac{1-\alpha}{\beta(\alpha)} \lambda(\delta_1) - \frac{1-\alpha}{\beta(\alpha)} \lambda(\delta_1) \right] \\
 &= \frac{-2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) + \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_1) - \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \frac{1-\alpha}{\beta(\alpha)} \lambda(\delta_1) \\
 &\quad - \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \left( {}^{AB}I_{\delta_1^+}^{\alpha} I_{\frac{\delta_1 + \delta_2}{2}} \lambda(\delta_1) \right). \tag{1}
 \end{aligned}$$

Similarly  $I_2$ , we get

$$\begin{aligned}
 I_2 &= \int_0^1 \left(\xi^\alpha - \frac{4}{3}\right) \lambda' \left( \left(\frac{\xi}{2}\right)\delta_1 + \lambda' \left(\frac{2-\xi}{2}\right)\delta_2 \right) d\xi \\
 &= \frac{2}{\delta_2 - \delta_1} \left(\xi^\alpha - \frac{4}{3}\right) \lambda \left( \frac{\xi}{2}\delta_1 + \left(\frac{2-\xi}{2}\right)\delta_2 \right) \Big|_0^1 + \frac{2\alpha}{\delta_2 - \delta_1} \int_0^1 \xi^{\alpha-1} \lambda \left( \frac{\xi}{2}\delta_1 + \left(\frac{2-\xi}{2}\right)\delta_2 \right) d\xi \\
 &= \frac{2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_2) + \frac{2\alpha}{\delta_2 - \delta_1} \int_0^1 \xi^{\alpha-1} \lambda \left( \frac{\xi}{2}\delta_1 + \left(\frac{2-\xi}{2}\right)\delta_2 \right) d\xi \\
 &= \frac{2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_2) + \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \alpha \int_{\frac{\delta_1 + \delta_2}{2}}^{\delta_2} (\delta_2 - u)^{\alpha-1} \lambda(u) du \\
 &= \frac{2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_2) + \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \\
 &\quad \times \left[ \frac{\alpha\beta(\alpha)\Gamma\alpha}{\beta(\alpha)\Gamma\alpha} \int_{\frac{\delta_1 + \delta_2}{2}}^{\delta_2} (\delta_2 - u)^{\alpha-1} \lambda(u) du + \frac{1-\alpha}{\beta(\alpha)} \lambda(\delta_2) - \frac{1-\alpha}{\beta(\alpha)} \lambda(\delta_2) \right] \\
 &= \frac{2}{3(\delta_2 - \delta_1)} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{8}{3(\delta_2 - \delta_1)} \lambda(\delta_2) + \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \frac{1-\alpha}{\beta(\alpha)} \lambda(\delta_2) \\
 &\quad + \left(\frac{2}{\delta_2 - \delta_1}\right)^{\alpha+1} \left( {}^{AB}I_{\frac{\delta_1 + \delta_2}{2}}^{\alpha} I_{\delta_2}^{\alpha} \lambda(\delta_2) \right). \tag{2}
 \end{aligned}$$

By equalities (1) and (2), we get

$$\begin{aligned}
 &\frac{(\delta_2 - \delta_1)}{4} (I_1 - I_2) \\
 &= \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \\
 &\quad - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha} I_{\frac{\delta_1 + \delta_2}{2}} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\frac{\delta_1 + \delta_2}{2}}^{\alpha} I_{\delta_2}^{\alpha} \lambda(\delta_2) \right) \right).
 \end{aligned}$$

The proof of Lemma 2.1 is completed.  $\square$

**Theorem 2.2.** Suppose that assumptions of Lemma 2.1 hold. If  $|\lambda'|$  is a convex function on  $[\delta_1, \delta_2]$ , then the following fractional inequality holds:

$$\begin{aligned}
 &\left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\
 &\quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha} I_{\frac{\delta_1 + \delta_2}{2}} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\frac{\delta_1 + \delta_2}{2}}^{\alpha} I_{\delta_2}^{\alpha} \lambda(\delta_2) \right) \right) \right| \\
 &\leq \frac{\delta_2 - \delta_1}{12} \left( \frac{4\alpha + 1}{\alpha + 1} \right) [|\lambda'(\delta_1)| + |\lambda'(\delta_2)|].
 \end{aligned}$$

*Proof.* By taking modulus in Lemma 2.1, with the help of the convexity  $|\lambda'|$ , we get

$$\begin{aligned}
& \left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\
& \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\delta_2^-}^{\alpha} \lambda(\delta_2) \right) \right) \right| \\
& \leq \frac{\delta_2 - \delta_1}{4} \left[ \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right| d\xi \right. \\
& \quad \left. + \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) \right| d\xi \right] \\
& \leq \frac{\delta_2 - \delta_1}{4} \left[ \left( \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left( \frac{2-\xi}{2} |\lambda'(\delta_1)| + \frac{\xi}{2} |\lambda'(\delta_2)| \right) d\xi \right) \right. \\
& \quad \left. + \left( \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left( \frac{\xi}{2} |\lambda'(\delta_1)| + \frac{2-\xi}{2} |\lambda'(\delta_2)| \right) d\xi \right) \right] \\
& \leq \frac{\delta_2 - \delta_1}{4} \left[ \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha+1)(\alpha+2)} \right) |\lambda'(\delta_1)| + \left( \frac{2\alpha+1}{6(\alpha+2)} \right) |\lambda'(\delta_2)| \right. \\
& \quad \left. + \left( \frac{2\alpha+1}{6(\alpha+2)} \right) |\lambda'(\delta_1)| + \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha+1)(\alpha+2)} \right) |\lambda'(\delta_2)| \right] \\
& \leq \frac{\delta_2 - \delta_1}{12} \left( \frac{4\alpha+1}{\alpha+1} \right) [|\lambda'(\delta_1)| + |\lambda'(\delta_2)|].
\end{aligned}$$

The proof of Theorem 2.2 is completed.  $\square$

**Remark 2.3.** Assume that  $\alpha = 1$  in Theorem 2.2, we have

$$\begin{aligned}
& \left| \frac{1}{3} \left( 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - 2\lambda(\delta_2) \right) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(u) du \right| \\
& \leq \frac{5(\delta_2 - \delta_1)}{24} (|\lambda'(\delta_1)| + |\lambda'(\delta_2)|),
\end{aligned}$$

which is proved by Alomari in [27].

**Theorem 2.4.** Suppose that assumptions of Lemma 2.1 hold. If  $|\lambda'|^q$  is a convex function on  $[\delta_1, \delta_2]$  and  $q > 1$ , then the following fractional inequality holds:

$$\begin{aligned}
& \left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\
& \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\delta_2^-}^{\alpha} \lambda(\delta_2) \right) \right) \right| \\
& \leq \frac{\delta_2 - \delta_1}{4} \left( \left( \frac{4}{3} \right)^p - \frac{1}{\alpha p + 1} \right)^{\frac{1}{p}} \left[ \left( \frac{3|\lambda'(\delta_1)|^q + |\lambda'(\delta_2)|^q}{4} \right)^{\frac{1}{q}} + \left( \frac{|\lambda'(\delta_1)|^q + 3|\lambda'(\delta_2)|^q}{4} \right)^{\frac{1}{q}} \right] \\
& \leq \frac{\delta_2 - \delta_1}{4} \left( \left( \frac{16}{3} \right)^p - \frac{4}{\alpha p + 1} \right)^{\frac{1}{p}} (|\lambda'(\delta_1)| + |\lambda'(\delta_2)|),
\end{aligned}$$

where  $\frac{1}{p} + \frac{1}{q} = 1$ .

*Proof.* By taking modulus in Lemma 2.1, we have

$$\begin{aligned} & \left| \frac{2}{3} (\lambda (\delta_1) + \lambda (\delta_2)) - \frac{1}{3} \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) - \frac{2^{\alpha-1} (1 - \alpha)}{\beta (\alpha) (\delta_2 - \delta_1)^\alpha} (\lambda (\delta_1) + \lambda (\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB} I_{\delta_1}^{\alpha} \lambda (\delta_1) \right) + \left( {}^{AB} I_{\delta_2}^{\alpha} \lambda (\delta_2) \right) \right) \right| \\ & \leq \frac{\delta_2 - \delta_1}{4} \int_0^1 \left| \xi^\alpha - \frac{4}{3} \left| \left[ \lambda' \left( \left( \frac{2 - \xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right] \right| d\xi \right. \\ & \quad \left. + \left| \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2 - \xi}{2} \right) \delta_2 \right) \right| d\xi \right|. \end{aligned} \tag{3}$$

By Hölder inequality in (3) and using the convexity of  $|\lambda'|^q$ , we get

$$\begin{aligned} & \int_0^1 \left| \xi^\alpha - \frac{4}{3} \left| \left[ \lambda' \left( \left( \frac{2 - \xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right] \right| d\xi \right. \\ & \leq \left( \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right)^p d\xi \right)^{\frac{1}{p}} \left( \int_0^1 \left| \lambda' \left( \left( \frac{2 - \xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right|^q d\xi \right)^{\frac{1}{q}} \\ & \leq \left( \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right)^p d\xi \right)^{\frac{1}{p}} \left[ \int_0^1 \left( \frac{2 - \xi}{2} |\lambda' (\delta_1)|^q + \frac{\xi}{2} |\lambda' (\delta_2)|^q \right) d\xi \right]^{\frac{1}{q}} \\ & \leq \left( \left( \frac{4}{3} \right)^p - \frac{1}{\alpha p + 1} \right)^{\frac{1}{p}} \left( \frac{3 |\lambda' (\delta_1)|^q + |\lambda' (\delta_2)|^q}{4} \right)^{\frac{1}{q}}. \end{aligned} \tag{4}$$

Similarly, we have

$$\begin{aligned} & \int_0^1 \left| \xi^\alpha - \frac{4}{3} \left| \left[ \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2 - \xi}{2} \right) \delta_2 \right) \right] \right| d\xi \right. \\ & \leq \left( \left( \frac{4}{3} \right)^p - \frac{1}{\alpha p + 1} \right)^{\frac{1}{p}} \left( \frac{|\lambda' (\delta_1)|^q + 3 |\lambda' (\delta_2)|^q}{4} \right)^{\frac{1}{q}}. \end{aligned} \tag{5}$$

Here we have used the fact that

$$|A - B| < A^p - B^p,$$

for  $A > B$  and  $p \geq 1$ . By putting (4), (5) in (3), then we obtain the first inequality.

For the proof of the second inequality, let  $a_1 = 3 |\lambda' (\delta_1)|^q$ ,  $b_1 = |\lambda' (\delta_2)|^q$ ,  $a_2 = |\lambda' (\delta_1)|^q$ , and  $b_2 = 3 |\lambda' (\delta_2)|^q$  utilizing the fact that

$$\sum_{k=1}^n (a_k + b_k)^s \leq \sum_{k=1}^n a_k^s + \sum_{k=1}^n b_k^s, \quad 0 \leq s < 1,$$

and  $1 + 3^{\frac{1}{q}}$  the required result can be established straightforwardly.

The proof of Theorem 2.4 is completed.  $\square$

**Remark 2.5.** Assume that  $\alpha = 1$  in Theorem 2.4, we have

$$\begin{aligned} & \left| \frac{1}{3} \left( 2\lambda (\delta_1) - \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) - 2\lambda (\delta_2) \right) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda (u) du \right| \\ & \leq \frac{\delta_2 - \delta_1}{4} \left( \left( \frac{16}{3} \right)^p - \frac{4}{p + 1} \right)^{\frac{1}{p}} (|\lambda' (\delta_1)| + |\lambda' (\delta_2)|), \end{aligned}$$

which is proved by Budak and Kösem [29, Corollary 1].

**Theorem 2.6.** Suppose that assumptions of Lemma 2.1 hold. If  $|\lambda'|^q$  is a convex function on  $[\delta_1, \delta_2]$  and  $q \geq 1$ , then the following fractional inequality holds:

$$\begin{aligned} & \left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1, \frac{\delta_1+\delta_2}{2}}^\alpha \lambda(\delta_1) \right) + \left( {}^{AB}I_{\frac{\delta_1+\delta_2}{2}, \delta_2}^\alpha \lambda(\delta_2) \right) \right) \right| \\ \leq & \frac{\delta_2 - \delta_1}{4} \left( \frac{4\alpha + 1}{3(1+\alpha)} \right)^{1-\frac{1}{q}} \left[ \left( \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha + 1)(\alpha + 2)} \right) |\lambda'(\delta_1)|^q + \left( \frac{2\alpha + 1}{6(\alpha + 2)} \right) |\lambda'(\delta_2)|^q \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \left( \frac{2\alpha + 1}{6(\alpha + 2)} \right) |\lambda'(\delta_1)|^q + \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha + 1)(\alpha + 2)} \right) |\lambda'(\delta_2)|^q \right)^{\frac{1}{q}} \right]. \end{aligned}$$

*Proof.* By using of Lemma 2.1, the power-mean inequality and using the convexity of  $|\lambda'|^q$ , we have

$$\begin{aligned} & \left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1, \frac{\delta_1+\delta_2}{2}}^\alpha \lambda(\delta_1) \right) + \left( {}^{AB}I_{\frac{\delta_1+\delta_2}{2}, \delta_2}^\alpha \lambda(\delta_2) \right) \right) \right| \\ \leq & \frac{\delta_2 - \delta_1}{4} \left[ \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right| d\xi \right. \\ & \quad \left. + \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) \right| d\xi \right] \\ \leq & \frac{\delta_2 - \delta_1}{4} \left[ \left( \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right) d\xi \right)^{1-\frac{1}{q}} \left( \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right|^q d\xi \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right) d\xi \right)^{1-\frac{1}{q}} \left( \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) \right|^q d\xi \right)^{\frac{1}{q}} \right] \\ \leq & \frac{\delta_2 - \delta_1}{4} \left[ \left( \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right) d\xi \right)^{1-\frac{1}{q}} \left( \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left( \left( \frac{2-\xi}{2} \right) |\lambda'(\delta_1)|^q + \frac{\xi}{2} |\lambda'(\delta_2)|^q \right) d\xi \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right) d\xi \right)^{1-\frac{1}{q}} \left( \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left( \frac{\xi}{2} |\lambda'(\delta_1)|^q + \left( \frac{2-\xi}{2} \right) |\lambda'(\delta_2)|^q \right) d\xi \right)^{\frac{1}{q}} \right] \\ \leq & \frac{\delta_2 - \delta_1}{4} \left( \frac{4\alpha + 1}{3(1+\alpha)} \right)^{1-\frac{1}{q}} \left[ \left( \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha + 1)(\alpha + 2)} \right) |\lambda'(\delta_1)|^q + \left( \frac{2\alpha + 1}{6(\alpha + 2)} \right) |\lambda'(\delta_2)|^q \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left( \left( \frac{2\alpha + 1}{6(\alpha + 2)} \right) |\lambda'(\delta_1)|^q + \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha + 1)(\alpha + 2)} \right) |\lambda'(\delta_2)|^q \right)^{\frac{1}{q}} \right]. \end{aligned}$$

The proof of Theorem 2.6 is completed.  $\square$

**Remark 2.7.** Assume that  $\alpha = 1$  in Theorem 2.6, we have

$$\left| \frac{1}{3} \left( 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - 2\lambda(\delta_2) \right) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(u) du \right|$$



$$\leq \frac{(\delta_2 - \delta_1)}{4} \left(\frac{5}{6}\right)^{1-\frac{1}{q}} \left[ \left(\frac{4|\lambda'(\delta_1)|^q + |\lambda'(\delta_2)|^q}{6}\right)^{\frac{1}{q}} + \left(\frac{|\lambda'(\delta_1)|^q + 4|\lambda'(\delta_2)|^q}{6}\right)^{\frac{1}{q}} \right],$$

which is obtained by Budak and Kösem [29, Remark 2].

**Theorem 2.8.** Suppose that assumptions of Lemma 2.1 hold. If there exist constant  $-\infty < m < M < +\infty$  such that  $m \leq |\lambda'(x)| \leq M$  for all  $x \in [\delta_1, \delta_2]$ , then the following fractional inequality holds:

$$\begin{aligned} & \left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha, \delta_1+\delta_2} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\delta_2^-}^{\alpha, \delta_1+\delta_2} \lambda(\delta_2) \right) \right) \right| \\ & \leq \frac{(\delta_2 - \delta_1)(4\alpha + 1)}{12(\alpha + 1)} (M - m). \end{aligned}$$

*Proof.* By using the Lemma 2.1, we have

$$\begin{aligned} & \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \\ & \quad - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha, \delta_1+\delta_2} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\delta_2^-}^{\alpha, \delta_1+\delta_2} \lambda(\delta_2) \right) \right) \\ & = \frac{\delta_2 - \delta_1}{4} \left[ \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) d\xi \right. \\ & \quad \left. - \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) d\xi \right] \\ & = \frac{\delta_2 - \delta_1}{4} \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \left[ \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) - \frac{m+M}{2} \right] d\xi \\ & \quad + \frac{\delta_2 - \delta_1}{4} \int_0^1 \left( \xi^\alpha - \frac{4}{3} \right) \left[ \frac{m+M}{2} - \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) \right] d\xi. \end{aligned} \tag{6}$$

Employing the absolute value on both sides of equality (6), we have

$$\begin{aligned} & \left| \frac{2}{3} (\lambda(\delta_1) + \lambda(\delta_2)) - \frac{1}{3} \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - \frac{2^{\alpha-1}(1-\alpha)}{\beta(\alpha)(\delta_2 - \delta_1)^\alpha} (\lambda(\delta_1) + \lambda(\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB}I_{\delta_1^+}^{\alpha, \delta_1+\delta_2} \lambda(\delta_1) \right) + \left( {}^{AB}I_{\delta_2^-}^{\alpha, \delta_1+\delta_2} \lambda(\delta_2) \right) \right) \right| \\ & \leq \frac{\delta_2 - \delta_1}{4} \left[ \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) - \frac{m+M}{2} \right| d\xi \right. \\ & \quad \left. + \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left| \frac{m+M}{2} - \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) \right| d\xi \right]. \end{aligned} \tag{7}$$

Since  $m \leq |\lambda'(x)| \leq M$  for all  $x \in [\delta_1, \delta_2]$ , we get

$$\left| \lambda' \left( \left( \frac{2-\xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) - \frac{m+M}{2} \right| \leq \frac{M-m}{2}, \tag{8}$$

and

$$\left| \frac{m+M}{2} - \lambda' \left( \left( \frac{\xi}{2} \right) \delta_1 + \lambda' \left( \frac{2-\xi}{2} \right) \delta_2 \right) \right| \leq \frac{M-m}{2}. \tag{9}$$

Utilizing these equalities (8), (9) in (7), we have

$$\begin{aligned} & \left| \frac{2}{3} (\lambda (\delta_1) + \lambda (\delta_2)) - \frac{1}{3} \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) - \frac{2^{\alpha-1} (1 - \alpha)}{\beta (\alpha) (\delta_2 - \delta_1)^\alpha} (\lambda (\delta_1) + \lambda (\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB} I_{\delta_1^+}^{\alpha} \lambda (\delta_1) \right) + \left( {}^{AB} I_{\delta_2^-}^{\alpha} \lambda (\delta_2) \right) \right) \right| \\ & \leq \frac{(\delta_2 - \delta_1) (M - m)}{4} \left[ \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| d\xi \right] \\ & \leq \frac{(\delta_2 - \delta_1) (4\alpha + 1)}{12 (\alpha + 1)} (M - m). \end{aligned}$$

This completes the proof.  $\square$

**Remark 2.9.** Assume that  $\alpha = 1$  in Theorem 2.8, we have

$$\left| \frac{1}{3} \left( 2\lambda (\delta_1) - \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) - 2\lambda (\delta_2) \right) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda (u) du \right| \leq \frac{5(\delta_2 - \delta_1)}{24} (M - m),$$

which is obtained by Budak and Kösem [29, Corollary 2].

**Theorem 2.10.** Suppose that assumptions of Lemma 2.1 hold. If  $\lambda'$  is  $L$ -Lipschitzian function on  $[\delta_1, \delta_2]$ , then the following fractional inequality holds:

$$\begin{aligned} & \left| \frac{2}{3} (\lambda (\delta_1) + \lambda (\delta_2)) - \frac{1}{3} \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) - \frac{2^{\alpha-1} (1 - \alpha)}{\beta (\alpha) (\delta_2 - \delta_1)^\alpha} (\lambda (\delta_1) + \lambda (\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB} I_{\delta_1^+}^{\alpha} \lambda (\delta_1) \right) + \left( {}^{AB} I_{\delta_2^-}^{\alpha} \lambda (\delta_2) \right) \right) \right| \\ & \leq \frac{(\delta_2 - \delta_1)^2 L}{4} \left[ \frac{2}{3} - \frac{1}{(\alpha + 1)(\alpha + 2)} \right]. \end{aligned}$$

*Proof.* By using the Lemma 2.1,  $\lambda'$  is  $L$ -Lipschitzian function, we get

$$\begin{aligned} & \left| \frac{2}{3} (\lambda (\delta_1) + \lambda (\delta_2)) - \frac{1}{3} \lambda \left( \frac{\delta_1 + \delta_2}{2} \right) - \frac{2^{\alpha-1} (1 - \alpha)}{\beta (\alpha) (\delta_2 - \delta_1)^\alpha} (\lambda (\delta_1) + \lambda (\delta_2)) \right. \\ & \quad \left. - \frac{2^{\alpha-1}}{(\delta_2 - \delta_1)^\alpha} \left( \left( {}^{AB} I_{\delta_1^+}^{\alpha} \lambda (\delta_1) \right) + \left( {}^{AB} I_{\delta_2^-}^{\alpha} \lambda (\delta_2) \right) \right) \right| \\ & = \frac{\delta_2 - \delta_1}{4} \int_0^1 \left| \xi^\alpha - \frac{4}{3} \right| \left[ \lambda' \left( \left( \frac{2 - \xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right. \\ & \quad \left. - \lambda' \left( \left( \frac{2 - \xi}{2} \right) \delta_1 + \lambda' \left( \frac{\xi}{2} \right) \delta_2 \right) \right] d\xi \\ & \leq \frac{(\delta_2 - \delta_1) L}{4} \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right) (\delta_2 - \delta_1) (1 - \xi) d\xi \\ & \leq \frac{(\delta_2 - \delta_1)^2 L}{4} \left[ \int_0^1 \left( \frac{4}{3} - \xi^\alpha \right) (1 - \xi) d\xi \right] \\ & \leq \frac{(\delta_2 - \delta_1)^2 L}{4} \left[ \frac{2}{3} - \frac{1}{(\alpha + 1)(\alpha + 2)} \right]. \end{aligned}$$

This completes the proof.  $\square$

**Remark 2.11.** Assume that  $\alpha = 1$  in Theorem 2.10, we have

$$\left| \frac{1}{3} \left( 2\lambda(\delta_1) - \lambda\left(\frac{\delta_1 + \delta_2}{2}\right) - 2\lambda(\delta_2) \right) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \lambda(u) du \right| \leq \frac{(\delta_2 - \delta_1)^2}{8} L,$$

which is obtained by Budak and Kösem [29, Corollary 4].

### 3. Application to special means

We shall consider the following special means:

(a) The Arithmetic Mean:

$$A = A(\delta_1, \delta_2) := \frac{\delta_1 + \delta_2}{2}, \delta_1, \delta_2 \geq 0;$$

(b) The Logarithmic Mean:

$$L = L(\delta_1, \delta_2) := \frac{\delta_2 - \delta_1}{\ln \delta_2 - \ln \delta_1}, \delta_1, \delta_2 > 0, \delta_1 \neq \delta_2;$$

(c) The Generalized logarithmic Mean:

$$L_r^r = L_r^r(\delta_1, \delta_2) := \left[ \frac{\delta_2^{r+1} - \delta_1^{r+1}}{(r+1)(\delta_2 - \delta_1)} \right]^{1/r}, r \in \mathbb{R} \setminus \{-1, 0\}, \delta_1, \delta_2 > 0$$

**Proposition 3.1.** Let  $\delta_1, \delta_2 \in \mathbb{R}$  with  $0 < \delta_1 < \delta_2$ , then we have

$$\left| 4A(\delta_1^2, \delta_2^2) - A^2(\delta_1, \delta_2) - 3L_2^2(\delta_1, \delta_2) \right| \leq \frac{5(\delta_2 - \delta_1)}{24} [\delta_1^2 + \delta_2^2].$$

*Proof.* The assertion follows from Theorem 2.2, applying the  $\lambda(x) = \frac{1}{2}x^2$  and  $\alpha = 1$ . □

### 4. Application to quadrature formula

Considering  $Z$  is the partition of the points  $\delta_1 = x_0 < x_1 < \dots < x_n = \delta_2$  of the interval  $[\delta_1, \delta_2]$  and let

$$\int_{\delta_1}^{\delta_2} \lambda(x) dx = \mu(\lambda, Z) + R(\lambda, Z),$$

where

$$\mu(\lambda, Z) = \sum_{i=0}^{n-1} \left( \frac{x_{i+1} - x_i}{3} \right) \left( 2\lambda(x_i) - \lambda\left(\frac{x_i + x_{i+1}}{2}\right) + 2\lambda(x_{i+1}) \right),$$

and  $R(\lambda, Z)$  constitute the considering approximation error.

**Proposition 4.1.** Let  $\lambda : [\delta_1, \delta_2] \rightarrow \mathbb{R}$  is a differentiable function on  $(\delta_1, \delta_2)$  with  $0 \leq \delta_1 < \delta_2$  and  $\lambda' \in L[\delta_1, \delta_2]$ . If  $|\lambda'|$  is convex function, we have

$$\begin{aligned} |R(\lambda, Z)| \leq & \sum_{i=0}^{n-1} \frac{(x_{i+1} - x_i)}{4} \left( \frac{4}{3} - \frac{1}{1 + \alpha} \right)^{1 - \frac{1}{q}} \left[ \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha + 1)(\alpha + 2)} \right) |\lambda'(x_i)|^q + \left( \frac{2\alpha + 1}{6(\alpha + 2)} \right) |\lambda'(x_{i+1})|^q \right. \\ & \left. + \left( \frac{2\alpha + 1}{6(\alpha + 2)} \right) |\lambda'(x_i)|^q + \left( \frac{2\alpha^2 + 5\alpha + 1}{2(\alpha + 1)(\alpha + 2)} \right) |\lambda'(x_{i+1})|^q \right]^{\frac{1}{q}}. \end{aligned}$$

*Proof.* The assertion follows from Theorem 2.6 on the subintervals  $[x_i, x_{i+1}]$  ( $i = 0, 1, \dots, n - 1$ ) of the partition  $Z$  and  $\alpha = 1$ , we have

$$\begin{aligned} & \left| \frac{1}{3} \left( 2\lambda(x_i) - \lambda' \left( \frac{x_i + x_{i+1}}{2} \right) + 2\lambda(x_{i+1}) \right) - \frac{1}{x_{i+1} - x_i} \int_{x_i}^{x_{i+1}} \lambda(u) du \right| \\ & \leq \frac{(x_{i+1} - x_i)}{4} \left( \frac{5}{6} \right)^{1 - \frac{1}{q}} \left[ \left( \frac{4|\lambda'(x_i)|^q + |\lambda'(x_{i+1})|^q}{6} \right)^{\frac{1}{q}} + \left( \frac{|\lambda'(x_i)|^q + 4|\lambda'(x_{i+1})|^q}{6} \right)^{\frac{1}{q}} \right]. \end{aligned} \quad (10)$$

By multiplying both sides of the inequality (10) by  $(x_{i+1} - x_i)$  summing the resulting inequalities for  $i = 0, 1, \dots, n - 1$ , and then applying the triangular inequality, the desired result is obtained.  $\square$

## 5. Conclusion

Fractional calculus is a fascinating subject with many applications in the modelling of natural problems. In this paper, we have established a new identity and given the fractional version of Milne-type inequality using the Atangana Baleanu fractional operator. Then considering this identity, are obtained new bounds and estimates using well known inequalities such as power-mean, Hölder and bounded functions. Furthermore, we have discussed some applications to special means, and quadrature formula. It appears that our results generalization the inequality obtained by [27, 28]. In the future, scholars may explore inequality with modified Caputo-Fabrizio fractional operators and modified A-B fractional operators and other convexity.

**Conflicts of Interest:** The authors declare no conflict of interest.

**Data Availability Statement:** Not applicable

**Informed Consent Statement:** Not applicable

**Institutional Review Board Statement:** Not applicable

## References

- [1] Dragomir, S. S., Agarwal, R. Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula. *Applied mathematics letters*. **11**(5), 91-95 (1998).
- [2] Cerone, P., Dragomir, S. S. Trapezoidal-type rules from an inequalities point of view. In *Handbook of analytic computational methods in applied mathematics*. 65-134(2019). Chapman and Hall/Crc.
- [3] Alomari, M. W. A companion of the generalized trapezoid inequality and applications. *J. math. appl.* **36**, 5-15, (2013).
- [4] Dragomir, S.S. On the trapezoid quadrature formula and applications. *Kragujevac journal of mathematics*. **23**(23), 25-36, (2001).
- [5] Sarikaya, M. Z., Aktan, N. On the generalization of some integral inequalities and their applications. *Mathematical and computer modelling*. **54**(9-10), 2175-2182, (2011).
- [6] Junjua, M. U. D., Qayyum, A., Munir, A., Budak, H., Saleem, M. M., Supadi, S. S. A Study of Some New Hermite–Hadamard Inequalities via Specific Convex Functions with Applications. *Mathematics*, **12**(3), (2024), 478.
- [7] Sarikaya, M. Z., Set, E., Yaldiz, H., Başak, N. Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities. *Mathematical and computer modelling*. **57**(9-10), 2403-2407, (2013).
- [8] Iqbal, M., Bhatti, M. I., Nazeer, K. Generalization of inequalities analogous to Hermite-Hadamard inequality via fractional integrals. *Bull. korean math. soc.* **52**(3), 707-716, (2015).
- [9] Yang, H., Qaisar, S., Munir, A., Naeem, M. New inequalities via Caputo-Fabrizio integral operator with applications. *Aims mathematics*. **8**(8), 19391-19412 (2023).
- [10] Dragomir, S. S. On the midpoint quadrature formula for mappings with bounded variation and applications. *Kragujevac J. math.* **22**(1), 13-19, (2000).
- [11] Sarikaya, M. Z., Saglam, A., Yildirim, H. New inequalities of Hermite-Hadamard type for functions whose second derivatives absolute values are convex and quasi-convex. *International journal of open problems in computer science and mathematics*. **5**(3), (2012).
- [12] Kirmaci, U. S. Inequalities for differentiable mappings and applications to special means of real numbers to midpoint formula, *Applied mathematics and computation*. **147**(5), 137-146, (2004).
- [13] Bohner, M., Kashuri, A., Mohammed, P., Valdes, J. E. N. Hermite-Hadamard-type inequalities for conformable integrals. *Hacetatepe journal of mathematics and statistics*. **51**(3), 775-786, (2022).
- [14] Chen, J., Huang, X. Some new inequalities of Simpson's type for  $s$ -convex functions via fractional integrals. *Filomat*. **31**(15), 4989-4997, (2017).
- [15] Dragomir, S. S, Agarwal Cerone, P. On Simpson's inequality and applications. *J. inequal. appl.* **5**, 533-579, (2000).

- [16] Dragomir, S. S. On Simpson's quadrature formula for mappings of bounded variation and applications. *Tamkang journal of mathematics*. **30**(1), 53-58, (1999).
- [17] Du, T., Li, Y., Yang, Z. A generalization of Simpson's inequality via differentiable mapping using extended  $(s, m)$ -convex functions. *Applied mathematics and computation*. **293**, 358-369, (2017).
- [18] Hussain, S., Khalid, J., Chu, Y. M. Some generalized fractional integral Simpson's type inequalities with applications. *Aims math*. **5**(6), 5859-5883, (2020).
- [19] Iqbal, M., Qaisar, S., Hussain, S. On Simpson's type inequalities utilizing fractional integrals. *J. Comput. Anal. Appl.* **23**(6), 1137-1145, (2017).
- [20] Munir, A., Vivas-Cortez, M., Qayyum, A., Budak, H., Faiz, I., Supadi, S. S. (2024). Some new fractional corrected Euler-Maclaurin type inequalities for function whose second derivatives are  $s$ -convex function. *Mathematical and Computer Modelling of Dynamical Systems*, **30**(1), 543-566.
- [21] Munir, A., Budak, H., Faiz, I., Qaisar, S. Generalizations of Simpson type inequality for  $(\alpha, m)$ -convex functions. *Filomat* **38**(10), 3295–3312, (2024).
- [22] Munir, A., Qayyum, A., Rathour, L., Atta, G., Supadi, S. S., Ali, U. A study on Milne-type inequalities for a specific fractional integral operator with applications. *Korean Journal of Mathematics*, **32**(2), 297-314, (2024).
- [23] Munir, A., Qayyum, A., Supadi, S. S., Budak, H., Faiz, I. A study of improved error bounds for Simpson type inequality via fractional integral operator. *Filomat* **38** (10), 3415–3427, (2024).
- [24] Booth, A. D. *Numerical methods*, 3rd Ed., Butterworths, California (1966).
- [25] Caputo, M., Fabrizio, M. A new definition of fractional derivative without singular kernel. *Progress in fractional differentiation applications*. **1**(2), 73-85(2015).
- [26] Atangana, A., Baleanu, D. New fractional derivatives with nonlocal and non-singular kernel: theory and application to heat transfer model. *arXiv preprint arXiv:1602.03408*(2016).
- [27] Alomari, M. New error estimations for the Milne's quadrature formula in terms of at most first derivatives. *Konuralp journal of mathematics*. **1**(1), 17-23(2013).
- [28] Budak, H., Kösem, P., Kara, H. On new Milne-type inequalities for fractional integrals. *Journal of inequalities and applications*. **2023**(1), 1-15(2023).
- [29] Budak H., Karagözoglu P, Fractional Milne type inequalities. *Acta Mathematica Universitatis Comenianae*, XCIII(1). 2024, pp. 1-15.